18 January 2025
Entrance Exam
(Class 6)

Addaz47
Question paper
Answer key

English Medium
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PART -3

Directions : In Question Nos. 9 to 12, there is o question figure on the left side, a part of which is
missing. Observe the nnswer figures (A, (B), (C) and (D) on the right side and find out the answer r'RUre
which, without changing the direction, fits in the missing part of the question figure in orde, to
complete the pattern i the question figure Indicate your answer by darkening the circle in the OMp
Answer Sheet against the number corresponding to the question

Question Figure Answer Figures
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PART -4

Directions : In Question Nos 13 to 16, there are three question Bpures on the left side and the space for
the fourth figure 1= left blank The question figures are an a series Find aut ane figure from among the
answer figures iven on the nght side which oceupies the blank space for the fourth fgure an the Left side
and completes the senies Indieate vour answer by darkening the circle 1n the OMR Answer Sheet against

the number corresponding to the question

Question Figures Answer Figures
¥ X X = = '@ = e * X = ¥ ° ¥
13. = . » ) x B ° ¥
° * % * ° X =
(A B) C (D
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PART -5

. of two question figures each. The second sy has
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PART 0
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PART -7

rnetl . S et side and four answer
Directions : I Question Nas. 25 to 28, there is o question figure on the left side lijury,

marked (A), (B), () and (D) are given an: the right side. Seleet the answer figure \\»lu;ln |l,..~ exnet|y the

<) LIRSS - answer by d; '
mirror image of the question Nigure when the nurror is held ot > @ Indicate )mfl WY k irka Ming the
cirele in the OMR Answer Sheet against the number corresponding to thoQuoston

Question Figure Answer Figures
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PART -9

e v Question Nos. 33 1036 ‘hich can be fo
Tarked (A). (B, (C) and (p) are given on the right side, Select the answer figure which can be formeqg fron,
iQ'L‘Qs Ki\-(;

5 . x swer Sheet apgi
nin the question figure. Darken the circle in the OMR Ans Bainst ),
number rorresponding to the question.

a que *linn ﬁ;:uro 1s gi\'en on thl’ l('“» Sld( ‘”“1 four answer “gul"p,
{ 8 8 ‘
thu cut-out p

Question Figure Answer Figures

33. OSQI
(A) (B) (C) (D)

u N
(A) (B) () (D)
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P
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Directions : For ey ery que

(12)

SECTION =11
ARITHMETIC TEST

stion. four probable answers as (A), (B), () and (D) are given. Only one out of

these is correct Choose the correct answer and darken the cirele in the OMR Answer Sheet against the
number corresponding to the question. .
41, A bieyele wheel has a toral of 24 spokes. The |45, What should be subtracted from lo pet
angle between a pair of adjacent spokes is: 11 "
Al 10 il 40
DD
(C) 24 (D' 30 - R e
42.  The bar graph shows the number of questions (s n (m _
solved by P, Q. R and S, 40 5
¥ 46. A shopkeeper buys at the rate of 5 toffees for n
- + rupee and sells at the rate of 4 toffees for a
.E-. o rupee. The number of toffees sold, so as to
‘5 ghamn L earn a profit of T 125 is
= | (A 1,200 (B)Y 1,600
o (€1 2,000 (D) 2,500
0 I_P_I Q R S Sx 47, ?;quur(:dpurk is of side 50 m, There is a path
P mw \ » . v "
From the above bar graph, find how many cost of l:\vc;l;'it:‘n'n:;:[., sl :ro}md inside it. The
more questions Q and R solve together than P 2 ;xare g _l"' ¢ path (in 2) ar 7 39 per
and S together did. 5 HeuRily
(A) 4,500
- ® 2 (C) 5,000 (D) 5,250
(C) 16 (DY 12 i
48.  Teenn purchased 4 Scooter for 2 55000 She
43. The angle between the minute hand and the spent T 3400 on s repair. She ’anci the
hour hand at 6:00 p.m. is scooter to her frieng for ¥ 54 030. Her profit
(A1 Acute angle (B} Right angle or loss is
(A) Profitof 7 2370
(C] Obruse angle .
(C) Profit of 2 1,030 (D) Lo
44. Which of the following rectangles has 5 - S§of ¥ 1,030
maxdmum area and how much is the | 49, = K + 9 B )
maximum area lin 5. cm! 7 222 227 % 22 * 97 simplification.
gives :
XOmﬁ 14 em 16 cm 11 em (A :1)2)
ISem  l4em 12an 17 cm ‘l‘(“' -
a (b (c d 1) :2—:’ in) E
‘A Rectangle ic), 192 % o ‘
50. 8-118-(16-(5- 4 .
l’” Is lbqu,"
(' Rectangle odo, 212 ‘Al 2 B) . :
. . - o b - .’
(D' Rectangle ar, 280 - () 5
c PACE FOR ROUGH WORK _ \
35:@ A — 7 - :
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t fraction form of 2000925 is 55. In a question of division, if divisor is 51,
2037 quotient is 16 and remainder is 27, then the
B = dividend is :
200
- (BY 483
py  S03¢ () 9 (D) 1393
4000 -

hiz heme at 9:00 a.m. to meet his
i for 10 minutes, travelled in

-
0

sar 1 hour 05 minutes and then walked for
—:mutes to reach his uncle's home. He
staves there for 3 hours 20 minutes and

~eached hus home at 3:30 p.m. How much time
3id he take on the return journey ?

A 1 hour 30 minutes
‘B’ 1 hour 35 minutes

Which of the following is always a factor of
every prime number ?

C) 4

56.

(By 2
o 7

57. The sum of 1-1, 1:01, 1-001, 0-01, 11-01 and
111-1001is:
(A) 125-2312 (B) 126-2311
N

‘D) 1 hour 45 minutes 58. 1f 9432 <+ 1-25 = 75456, then 9432 + 125 is
alto:
33. 17 bottles of water, each of 300 mlL and equq- ? =
30 bottles of juice. each of 130 mL are poured (A) 7-5456 -
into a jug. The total liquid in the jug in litres (C) 75456 M) 75456
o B - 59. Prime factorisation of 90 is
& i 5y i (A) 9x10 (B 3x6x5
3 3 ‘ (D), 2wBaels
54 3___'__-.———+———isequallolhe ) S
. 100 1000 1000000 60. F}:nd the difference between the greatest anc
. . the smallest 4-digit numbers formed using al
decimal number the digits 4, 2, 0 and 7. .
(A1 3-030333 - (A 5000 (B) 5300
(C) 3-003303 (D 30303003 - (D) 5720

SPAMF FNR RNIINH WNRY
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SECTION - 11
LANGUAGE TEST N S

-
Hon,

Directions : There are four pansages in this Section Each asigniie Bllswee, 37 75 Tt

cach passage carcfully and nnswer the questions that fullas For eaeh GUEeEtl ..'.'_”: a protabii sy o

f{\», (B), \C)and (D) a.rr- Fiven ’)n‘lv un-u ot of the-se is correct (“roprse LrE .,' answer 200 darey,
circle in the OMR Answer Sheet against the number correspanding Lhee (UEELT '
Passage — 1 Passage — z

copcinl machine. It moveR 30d L.,

Books are by far the most Insting products of | A robat 8 # 5P% .
s enene fromn B TLINPEET Beea |

human effort Temples crumble into ruin, piotures
and statues decay, but books survive Books do not! . 4 machin
destroy the great thoughts which are as fresh todas vired, It never enmpl
as “'h(‘n thl'_'c' first p:lr.nud lhrr,ug}, the authar's b -

d Buhots art all arsun

mind. These thoughts speak through the pnnted ' o

7 make things ror exalngs
pages. Th( nn]_\ effect of time has been to throw out mage thing )

f ' 5 : . Siyrree "1?/:"—“ Aars J“’d v exn.nTe ‘-7-.'_;'.’-_0-.1
O Cuﬂ'!.ﬂl’}. 'nap')rfl;'nﬂll' prudurt,. .\‘”thlng in ~OGTG s s
literature which is not good can live for long. Good :
bOOkS have al“'a."i h(‘lp(:d man in various 5ph‘f."‘§ houses

of life. No wonder the world keeps its books with | They can be used w0 help
Ereat care. ummans. Most rtazs o

i+ does oot TnZzlr L3 EEy 2w 2

i

W

cars
laces like volcanoes. SOTE
3 can evern Ieignile wiry,

5 e

=
Sqame oAl

]
BASHET LEEpTITe 22l
—

Some robats louk like o

61. Of all the products of human effort, books are
the most creation. 66. Thesynonymof‘tired’is
P (B) inappropnate (A explore —
(C) time consuming /D). useful {C) wacuum ‘D) dangervas

67. Robats don't make mistakes because ther

62. Good books have been able to stand the test of
time because they contain ;
(A) the author's mind

’ ) (C) look like humans
(C) nappropriate products D) don't look tired

(D) printed matter
68. According to the pass

63. Which of the following words is a synonym of following tasks are robots nof used ?
the word ‘inappropriate’ ? (A Toclean houses

(A1 illness (B) unaware (B: To answer telephone calls
(C) For making cars

© suube QR

64. The world keeps its books with care because ) ) _{
they ) 69. Which of the following words is an antesi==
(A) trainus the word ‘dangerous’?
— A explore D
(C) are timeless (C) tired (D) recognise

(D) celebrate human effort 70. Which of the following statements 35
. . robots is not true ?

65. The word ‘crumble’, as used in the passage, (A) Most fobots look Jike hines.

(B} Robots don't make mistakes.

means
(A) disintegrate - (C) Robots are very useful.

(G displace Ll S O

(A are machines

e, for which of e




Passnge - 3

WIS VWY Wl i
5 wl W o ‘\(\',\ “‘.!‘t‘!\ ao

s Thay  halp hres

Widors hold eges. hide from
aarg Sk cateh Rond

wet Spnlers are dark bwwn gy or blaek in
oo while the apider wobw are Wl i eolour,
oHite and cdoady When siiders hude in thir webs,
My e hander 1 see. Weolw help apiders cateh
ol Spider webs ate sticky. Whon bug Mies into
dve Wb, W ogets stuek. T1 tres o get out, but it
) T brapped! Spaders ot toll that the bug is
paeed as thay fool the web move

S0 withaut wobs, spidors would not be able to live
ke thay do Wobs, in fact aro crucial for the
swrvival of spuders

™ This passage is about the _
B importance of bugs for the spiders
W7 importance of laying eggs
A nature of spiders

T8 What is mof true about webs of spiders 7
W They eatch food.

cll T
(D) They hide from enemios.

T The synoaym of the word ‘trapped’ is |

> (B)  hidden

() eaten (D) escape

" n_nmqu-anwluumthingh
trapped in their web ?

(A} They can hoar it. (B) They can smell it.
b (D) They can taste it.

(15)
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Passuge - 4

The golden eagle n vanily rocognizable by its moutly
dark brown plumage and golden fusthers In adults,
the fomnles resomble the mules, but are often
Ly

This mujestic cronture makes it home in the open
connley i the northorn hemisphere They build
large nests in troen or on the wally of cliffis which
given them greater room Lo manoguvre The golden
eagle is 4 moster ol SORRINE With its large
Wingspan, it s o magnificent sight as it soars for
long poriods ofton aided by the rising mass of warm
air. Upwind i important, for it can carry the golden
eagle to massive heights without flapping

76. The golden eagle is mostly found in

(A) nrens that have little wind and warm air
(B) areas that have buildings
() the southern hemisphere

77. The female golden engle can be distinguished
by it _ L

(A) darker plumage
(B) brighter wings
(C) dark brown plumage

it sy

nests 7

(A) Open country

(B) Areas isolated from vegotation
(D) Open country with houses

‘majestic’ 7
(A) golden (B) humble
iy (D) modest

antonym of ‘massive’ ?
W) tiny ——

| (©) puny ml) weightless

79. Which word is similar in meaning to the words

80. Which of the following words is not an

Rk o |



